
Government 

LCP Price = 80000 

LCP – 1% (2307) + LCP – 5% (2306) 

80000 / 1.12 = 71428.57 

71428.57 X 1% = 714.29 

71428.57 X 5% = 3571.41 

Amount to be paid = 80000 – 714.29 – 3571.41 = 75714.30 

 

Cash Price without discount = 75000 

Cash – 1% (2307)  

75000 / 1.12 = 66,964.28 

66,964.28 X 1% = 669.64 

Amount to be paid = 75000 – 669.64 = 74,330.36 

 

Cash Sales – Company & Government 

 

 

 

 

 

 Create Sales Order – Transaction         Sales          Enter Sales Order        List 

 

 

 

 

 

 

 

 

 

 

Fill in the Important field Base on the Red Box 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Click Next Bill to Invoice 

 

 

 

 

 

 

 

 

 



Sales Invoice 

 

(IF GOVERNMENT – 2307-2306)        (IF COMPANY 2307)  

 

 

 

 

 

 

 

 

Accept payment or issuance or receipt  

 



 

 

 

 

 

 

 

BACK TO SALES ORDER TO FULFILLMENT  

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


